VIIRS VHP NDE-2.0 Validation Report
 (Weekly data)
Data Set compared-1:
GVH4kmInitialVH_v1r11_npp_s201611180000000_e201611242359599_c201611250443097.nc
GVH4kmInitialVH_v1r11_npp_s201611180000000_e201611242359599_c201611250415054.nc
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Summary:
	variable
	size
	Total #
	Good #
	Error #
	Error rate
	Note

	VCI
	10000x3616
	36160000
	35545354
	614646
	0.0169980
	

	TCI
	10000x3616
	36160000
	35520067
	639933
	0.0176973
	

	VHI
	10000x3616
	36160000
	35325692
	834308
	0.0230727
	

	QA
	10000x3616
	36160000
	36150005
	9995
	0.000276410
	

	PLATE_CARREE
	
	
	
	
	
	N/A



Comparing Results:

compared variable name: VCI vs. VCI
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    35545354
errNum=      614646
errRate=    0.0169980

compared variable name: TCI vs. TCI
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    35520067
errNum=      639933
errRate=    0.0176973

compared variable name: VHI vs. VHI
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    35325692
errNum=      834308
errRate=    0.0230727

compared variable name: QA vs. QA
DATA1           BYTE      = Array[10000, 3616]
DATA2           BYTE      = Array[10000, 3616]
totalNum=    36160000
goodNum=    36150005
errNum=        9995
errRate=  0.000276410

compared variable name: PLATE_CARREE vs. PLATE_CARREE
DATA1           LONG      =  -2147483647
DATA2           LONG      =  -2147483647
totalNum=           1
goodNum=           1
errNum=           0
errRate=      0.00000

Data Set compared-2:
GVH4kmInitialSM_v1r11_npp_s201611180000000_e201611242359599_c201611250443060.nc
GVH4kmInitialSM_v1r11_npp_s201611180000000_e201611242359599_c201611250415037.nc

Summary:
	variable
	size
	Total #
	Good #
	Error #
	Error rate
	Note

	SMN
	10000x3616
	36160000
	35444998
	715002
	0.0197733
	

	SMT
	10000x3616
	36160000
	35276029
	883971
	0.0244461
	

	QA
	10000x3616
	36160000
	36150005
	9995
	0.000276410
	

	PLATE_CARREE
	
	
	
	
	
	N/A



Comparing Results:

compared variable name: SMN vs. SMN
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    35444998
errNum=      715002
errRate=    0.0197733

compared variable name: SMT vs. SMT
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    35276029
errNum=      883971
errRate=    0.0244461

compared variable name: QA vs. QA
DATA1           BYTE      = Array[10000, 3616]
DATA2           BYTE      = Array[10000, 3616]
totalNum=    36160000
goodNum=    36150005
errNum=        9995
errRate=  0.000276410

compared variable name: PLATE_CARREE vs. PLATE_CARREE
DATA1           LONG      =  -2147483647
DATA2           LONG      =  -2147483647
totalNum=           1
goodNum=           1
errNum=           0
errRate=      0.00000



Data Set compared-3:
GVH4kmND_v1r11_npp_s201611180000000_e201611242359599_c201611250442572.nc
GVH4kmND_v1r11_npp_s201611180000000_e201611242359599_c201611250414593.nc

Summary:
	variable
	size
	Total #
	Good #
	Error #
	Error rate
	Note

	NDVI
	10000x3616
	36160000
	36159529
	471
	1.30254e-05
	

	BT4
	10000x3616
	36160000
	36159485
	515
	1.42423e-05
	

	QA
	10000x3616
	36160000
	36159985
	15
	4.14823e-07
	

	PLATE_CARREE
	
	
	
	
	
	N/A



Comparing Results:

compared variable name: NDVI vs. NDVI
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36159529
errNum=         471
errRate=  1.30254e-05

compared variable name: BT4 vs. BT4
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36159485
errNum=         515
errRate=  1.42423e-05

compared variable name: QA vs. QA
DATA1           BYTE      = Array[10000, 3616]
DATA2           BYTE      = Array[10000, 3616]
totalNum=    36160000
goodNum=    36159985
errNum=          15
errRate=  4.14823e-07

compared variable name: PLATE_CARREE vs. PLATE_CARREE
DATA1           LONG      =  -2147483647
DATA2           LONG      =  -2147483647
totalNum=           1
goodNum=           1
errNum=           0
errRate=      0.00000
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